A. Losungen fiir Einfeldsysteme

Tabelle A.4.: Einfeldtrager mit Streckenlast

Randwerte:

Vio=1 v10:q*1/2

My =0 M10:0

—qP ; o %
@10 = 75 Phil0:-q*143/(24*EI)

wyp =0 wl0:0

Auflagerkrifte:

A=T A:ig*1/2

B=1% Big*l/2

Funktionsgleichungen:

V(x1) = q(% —x1) Vxl:q*(1l/2-x1)

Iy — 2
M) = 170 M1 : g (1 x1-x142) /2

A3 12_13
@(x1) = % phix1:9*(-4*x143+6%1*x142-143)/(24*EI)

(=213 +8x7)

w(xy) = 5 wxl:g*(x144-2%1%x143+143%x1) /(24*EI)

Extremwerte:

XMmax = % xMmax:1/2

2
Mo = % Mmax:q*142/8

[
Xw,max; = 3 1/2

4
W1 = b wmax1:5%q*1A4/ (384%E*T)




